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M Which one of the following is anexampic =~ ! atrogenase is;
of mutualism ? A) Molybdenum'
(A) Barnacle and whale (B)

(B) Sea anemone and hermit crub ()

(C) Sucker fish and shark D)
(D) Vanda and tree

72.  Tumer's syndrome is caused due to the - : AS
(A) ;r;gme of an additional copy of (B)
(B) Presence of an additional copy of (<)
chromosome number 21 : (D)
(C) Presence of an additional copy of
chromosome number 14 7.0, DIl
(D) Absence of one of Ah o
X-chromosomes
78,
to 79,


dell
Stamp


80.

81.

B3.

A dry indehiscent fruit s :
(A) C ;"muh-

(B) Si hjua

(C) Follicle

(D) Caryopsis

The golden age of reptiles i : i grid be w 5

p ) w can il |,
(A) Mesozoic 4 4 ; ‘-j.
(B) Coenoroi . parate according
(Cy Paleozoic ' '1'"

(D)) Proterozoic

. 87,
Polytene chromosomes are joined at a
point called :

(A) Centrosome
(B) Chromocentre
(€) Chromomere
(D)  Kinetochore

Identify the otsunelle :

(A) Brown rust of wheat
(B_) Black rot of crucifers
(C) Late blight of potato
(D) Red rot of sugarcane
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The dental formuly §n

A} 2132/7132 o
(B) 1223/1223 =

(©) 1232/1232 N

(D) 2123/2123 B

Blood group with o antil
s

B group
(B) A group
(C) AB group
D O group

Most primitive member ofsh

is
(A) Homo habilis .
(B) Australopithecus afes
(Cy Homo neandertha)

(D) Anrdipithecus

Choose the correct st
halophiles :

(A} They live in salty ances

(B) They are eub
(C) Theyliveinr
(D) They -_
Svnapsis occurs during s
(A) Diplotene
(B) Leptotene

(C) Zygotene
(D) Diakinesis

Which one of the follo
colour ? B
(B) ryry ;
© Ry
D) rmryy

am

1ch one of the following is not
vt bulliform cells 2 it

. vielps to minimize waterlogs
5) They are colourless cells S
) They ket e e

(rasalands in South America are known

as
(A) Steppes
B Tussocks
(C) Velds
(D) Pampas

g9, Which one of the following represents the
gametophytic stage of ptesidophytes ?
(A) Strobilus
(B)

PITI | TR ffac
* 'tlpf el ﬁ‘ﬂﬁ";‘:“
-:_. o '.!* b “:__

Tl e

Ntk W "8 |

i [ i -
S RS s S s |



102.

103,

104.

105.

106.

| [\
< nt

ang !
Which one of the fi‘”"“””‘
modification of stem (f .
< Ji o on either side of the
(B) Pneumatophores

.
(C) Runner ’"‘----‘ gland
(D) Bulbil b melatonin

Which one of the following is not e
about active transport 7 .-. Pa
i e i " Mlion of seeds without fertilization
(B) Requires membrane pr
(C) Downhill transport

(D) Highly selective

oteins

A plant growth regulator which hlef‘ “:
achieve respiratory climactic during
ripening of fruit is :

(A) Cytokinin

(C) Auxin

_____ provides nutrition to the
male germ cells.

(A) Interstitial cells

(B) Leydig cells

(C) Sertoli cells

(D) Goblet cells

Which one of the following guards the
between the left atrium and the

left ventricle ?

(A) Mitral valve

(C) Tricuspid valve

(D) Inter ventricular septum




112

113

114

115.

116.

3015

Whi \Il'ﬂm

) et Jll.?
Flu

sMalaria

s
L]
e atl

Savine?

(B)
Chukaing

-

' Cplospirosiy

T | T
Which

- of the §

phlo .n*hr"
Hmp
Cotton
) Flax

8] Jote

[he number of poly

human haemoglobin & s in

(A} One nlphud.u

(B) Two alpha -
(€)Y Two alph. .,. i
chains 1 tbeta
(D) One alpha "’ !
chains =

Ful‘]‘uph-h'all'-lm g .
(A) Natural aging P
mnchmu)t ¢

(B) Txcm"ﬁ'. 20
forms )

(C) Increase in cOr of the
toxicant at B levels

(D) Increased en by
microorgan

Choose an ) from

the following :

(A) Liquid ent

(B) Coleoptile ing
(C)  Aleurone layes
(D) Coleorhiza i

118.

119,

120.

121.

Choose the staternent which um‘
about Bt cotton :

(A) Insect resistant plant gt 13

(8) Produces cry profein.

() Contains genes from Hnt.‘mn T
amyloliguefaciens

(D) !oxrprﬂnlnpmﬂnmdhﬁgm;_
is insect specific '

Agar is obtained from :

(A) Gracilarin

(B) Chara

(C) Oscillatoria

(D) Chlorella

Choose the correct statement about

t‘Eﬂ!bﬂ!PMﬂuu:

(A) Provides nutrients and oxygen to
the tissues of the brain |

It is filled within the ventricles of the
brain only

Formed from blood :
Protect the brain from injuries

(B)

(<€)
(D)

Choose the option which includes
(A)  Nereis, Leech -'
(B) Asoris, Earthworm
(O Asnria, Nere

(D) Earthworm, Leech

Which of the following is an of

a kinesthetic approach to 3 o

(A) Listening to a hcmdmﬂn
vocabulary . o

(8) Rﬂdﬂﬂl - a poem
(C) Using models of letters to form
words

(D) Visually identifying syllables on
alphabet cards




- ments
yil's attain?

|| ol NCERT is an 'i
5

122, Test which measures puf :
and progression in a specific SUU ‘with State Education 5
topic over a set period of time Cmn‘ng around the ;
(A) Achigvement tesis ' f#
{B) Diagnostic test ,'
(C) Formative tests g
(D) Prognostic test :

-

activity

123. “A whole hearted purpos:,‘-luf - ‘
proceeding in a social environment 1-9.9 i a
\ pla 1 important po :
(A) Dalton plan 2 of the mpo .
o er in which '
(B) Experiment in the ord 3
(C) Lecture ]
(D) Prujt“:t ‘
124. Which is the advisory body for the
Central and State Governments on all
matters pertaining to teacher education ’
(&) 8 12 ving statements which
(B) NCERT der Four Pillars of
(C) SCERT
(D) UGC

125. Which domain involves visualizing and
formulating expériments, designing
instruments and machines, relating

(A) Application Domain 130.
(B) Attitudinal Domain
(C) Creativity Domain
(D) Process Domain

126. Which among the following is one of the ;-- gl
five basic principles of NCF 2005 ? " '

(A) Connecting knowledge to life : B
outside the school Sl R ounder of Dalton Method ?

(B) Developing school infrastructure
() Providing teacher training and

incentives
(D) Promoting integrated curriculum



Which amung the

132
ander thi Ir:rulp &
onstructy T

(AY  Prim }‘l" of Utilise
(B) Principle of Dt

133. Which is NOT a P.'a‘ e

134.

135,

136.

1'_'lf la -

of co

(Y Principle

(DY Prin |[l|v

Analysis 7 +3

{A) Conlent amlm

(B) Curriculum desiy '-._
(C) Diagnostic luth‘ :'
(D) lJ.‘ill‘nl'l'lg Experionces

IMeschool was frw - '_"

(A) 2003
(B) 2005
(C) 2004
(D) 2001
One among the follo

six different vnhdiﬁu

curriculum as e

(A) Cognitive va i
(B) Content vnlidjgy' e
(C) Construct valic

(D)  Process validity

Versatile ICT ml
students is ;

(A) Enmma chan

(B) Edutainment chans
(C) Game channel )3
(D) Science 0

1 ¥

138

134.

140,

141,

W Vi h s hm.mdhcw

Fvaluation

(A)

() Learning experiences
() Professional ethics
(D) Svilabus

which situation is suitable for uing TN

(ecture method ?

‘__-.
.
e

(A For formulating a tentative solution

By For giving Mwmb
students

() For giving hands own experiences
to students

(D) For introducing and lumm-thhg
lessons

An approach of curriculum am
where a continuous and unbroken

learning of the subject matter w
various levdsdeduatnnilm

(A) Concentric approach

(B) Interdisciplinary qpm-:h
(C) Spiral 'Pl’""'d‘

(D) Top:nl o

memmhm
(A) Classifying

(B) Experimenting
(C) Measuring ey Tt o
(D) O I! rrla A
Skﬂkww‘l—mﬂm
scientific information :

(A) Computer skills ”
(B) Process skills

(O Lifeskills e
(D) Social skills S

o 1 P
L

.:';I |-n~r

-4y
"

A



142,

143.

144,

145,

146.

five
What helps a teacher to adopt effec 5
instructional aids and strategie®
teaching learning process ?

(A) Competitive Analysis
(B) Content Analysis
(©) Pﬁhgugii.‘ Analysis

process ‘pprum:h or SAPA is
e of :

(D) Swot Analysis s |
* Mode of grading where grades are given
on predetermined cut off levels s :

Who is considered as the father 0! e aiading

Cognitive C : : - Absol

opmitive Constructivism ? 3 Rt saing

(A) Bruner © ey & ges

(B) Gagne G Ralative _ : :

(C) Piaget

(D) Vygotsky % Wl'ut gives us a detailed account of g\;

subject content to be and
skills, knowledge and attitudes which are

Which agency published NCF 2005 ? ﬁbbeddﬁmlymedmseﬂ'ﬂ‘“

(A) CBSC mhjmspedﬁcobjechves ?

(B) NCTE '

(C) SCERT

(D) NCERT

g to McCormack and Yager's

h"lm! y based mmg 'mu b i d
ﬁ c om ¥, collection and Cﬂmpﬂlhtﬂ'l of

(A) A quesﬂnn mm " Lq | 2 comes under :
(B) Exploration (A} Knowledge mm

boratory (B) Process domain
e s (C) Creativity domain
Mg (D) Application domain
Year in which NCERT was established ?
e ~00o0-
(B) 1961
(C) 1964
(D) 1962 2

10 :
j}.



